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™\ Macroeconomics : Theory and Policy tactually
. sarcnota I'ccejy,
contributions, corporate income taxes and undistributed corporate m'::‘cr payments are not cu”c y
houscholds, and conversely, some incomes which are received like oyt Soipiomatie. enyy
eamed (examples of transfer payments are old-age pcnslops. uannp (:)y;?ng froth nafiong| i, reliep
payments, interest payments on the public debt, ete.). Ob"'o‘_’s'y’ n ;?ncom ¢ actually rece; fComg
as an indicator of income eamed to personal income as an mdlcatorho. b are camed but o, rVed., o
MUst subtract from national income those three types of income ‘; ;nlcr ofore CCCiveq
and add those incomes Which are received but currently not eamed. . ' l
i : ibutions — Corporate Incg
Personal Tncome = National Income ~ Social Security Contributions rpo Me Taxeq

= Undistributed Corporate Profits + Transfer Payments.

Personal Disposable Income (PDI)

Even whole of the incomes which are actually received by the people are not i_wailable to
them for consumption. This is because governments levy some Pﬂ's‘m'al taxes such as Ncome tay
personal property taxes. Therefore, after a part of personal income is paid l? government "f the form
of personal taxes like income tax, personal property taxes, etc., what remains of personal Income jq
called personal disposable income. Therefore,

Personal Disposable Income (PDI) = Personal Income — Personal Taxes.
Personal Disposable Income can either be consumed or saved. Hence,
Personal Disposable Income = Consumption + Saving.
How do we get personal income and personal disposable income from national income s
illustrated in Figure 2.5.

MEASUREMENT OF NATIONAL INCOME

Since factor incomes arise from the production of goods and services, and since incomes are spent
on goods and services produced, three alternative methods of measuring national income are possible.

1. Value Added Method

This is also called output method or production method. In this method the contribution of
each enterprise to the generation of flow of goods and services is measured. Under this method, the
economy is divided into different industrial sectors such as agriculture, fishing, mining, construction,

added at factor cost (NVAc) by each productive enterprise as well as by each industry or sector is
estimated. Measuring net value added at factor cost (NVA.) by each industry requires first to find
out the value of output.

Let us explain how we arrive at net value added at factor cost (NVAg) from value of output
step by step. An important estimate which we have to make in this method is to fing out the value of
various goods and services produced by enlterprises in the domestic territory of a country. The quantity
of goods and services produced by a particular enterprise multiplied by theiy market prices is called
value of output. By summing up the value of output of al] producing c'ntf.'rpriscs in a given industry
or a sector we can obtain the value of output of that industry of sector. A major artb;f output of 8
finm or enterprise is sold in the market and termed as sales. The femaining part gf output which is
not sold in the accounting year is added 1o the stock of goods or inventorjes, Thus

Value of output of an enterprise = Sales + Change in Stocks

Gross Value Added at Market Prices (GVA,,,). Gross valye added ibuti
| meas tribution
to the value of output of a P“’d“"'_Pmd“\"d during a year. As mentioned abovl:rc:atll:;c:f? output is
estimated by multiplying lhcvquanu_t)( of output with the market prices. There fom' sl e
at market prices by a production unit is obtained by deducting the yalye oﬁntenne'dgi:?e consumption
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Circular Flow of Income and National Income Accounting ot |

by
(| (that is, the value of intermediate goods such g5 raw materi ut (at
i:; market prices) produced. Thus, erials used from the value of output (
Ne Gross value added at markel prices (GVA,p) = Value of Output - Intermediate Consumption
Ve A ﬁrm dlsposF§ of its value :\ddu‘i at market prices (GVA,;) among the three items : (1) making
°d depreciation provision for consumption of fixed capital during the year, (2) making payments of
indirect taxes such as cxcn.sc duties, sales tax, import duty to the government, and (3) making factor
es payments such as wages, interest and profits to the factors of production whose services have been

used for the production of a good,

Net Value A(.]d.cd at Market Prices (NVA,p). When from gross value added at market prices
we deduct fieprccmhon on account of consumption of fixed capital during the production process of
to a good during the year, we get Net Value Added at market prices (NVA, ;). Thus

NVA, = GVA, — Consumption of Fixed Capital i.e. Depreciation
Thus net value added is net of depreciation or consumption of fixed capital.

Net Value Added at Factor Cost (NVA.). When adjustment is made in net value added at
market prices (NVA, ;) for the payment of net indirect taxes, (that is, indirect taxes such as sales tax,
excise duty, customs duties to the government minus subsidies received from the government) we
get Net Value Added at Factor Cost (NVA ) This is because after the subtraction of depreciation
amount and net indirect taxes what remains is used for making payments to factors of production
such as wages to labour, interest on capital borrowed, rent for land and building hired from others
and profits and dividends to entrepreneur. In other words, NVA. measures the value of factor cost
a firm has to incur.

Summing up the net values added at factor cost (NVA) by all productive enterprises of an

industry or sector gives us the net value added at factor cost of each industry or sector. We then add

it up net values added at factor cost by all industries or sectors to get net domestic product at factor

3 cost (NDPg). Lastly, to the net domestic product we add the net factor income from abroad to get
net national product at factor cost (NNPp.) which is also called national income. Thus,

f NI or NNP = NDP;.+ Net factor income from abroad

: This method of calculating national income can be used where there exists a census of production
for the year. In many countries, the data of production of only important industries are known. Hence
this method is employed along with other methods to arrive at the national income. The one great
advantage of this method is that it reveals the relative importance of the different sectors of the
economy by showing their respective contributions to the national income.

Precautions. The following precautions should be taken while measuring national income of a
country through value added method:

1. Imputed rent values of self-occupied houses should be included in the value of output.
Though these payments are not made to others, their values can be easily estimated from
prevailing values in the market,

2. Sale and purchase of second-hand goods should not be included in measuring value o_f

output of a year because their values were counted in the year of output of the year of their
~ production. Of course, commission or brokerage eamed in their sale and purchase has to

be included because this is a new service rendered in the current year, o

3. Value of producti on for self-consumption are to be tounted while measuring national mcon;:C;
In this method, the production for self-consumption should be valued at the prevailing marke
prices,

4. Value of services of housewives are not included because it
the value of their services.

IS

e Wi ¥V =

- T & Vg VW

is not easy to find out correctly
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5. Value of intermediate goods must not be counted while measuring g

will amount to double counting.
2. Income Method

This method approaches national income from di irs as
measures national income at the phase of distribution and appear ™= obtained by summing up, ,
individuals of the country, Thus, under this method, uaria{ral tncoi?;)e "Z ontributing their own scrv{me
incomes of all individuals of a country. Individuals carn ‘_':;:Io?;c:heynational production, There f'ocres

. ' 1 C,
and the services of their property such as land and cap and salaries of employees, imcrem

national income is calculated by adding up the rent of land, Wages di
on capital, profits of entrepreneurs (including undistributed corporate profits) and incomes of self.

. . vantage of indica;
employed people. This method of estimating national incomeé has the gre}?taasdlandl frds f:\‘dICatm
the distribution of national income among different income groups SU(;l plion meth, d VIETS of
capital, workers, entrepreneurs. Measurement of national income through 1nco 0d involyeg

the following main steps: o
1. Like the value added method, the first step in income method is also _to identify th'e productiye
enterprises and then classify: them into various industrial sectors such as agriculture, fishing, forestry,

manufacturing, transport, trade and commerce, banking, etc.
2. The second step is to classify the factor payments. The factor payments are classified intq

the following groups:
1. Compensation to employees which includes wages and salaries, employers’ contribution to
social security schemes.
2. Rent and also royalty, if any.
3. Interest.
4. Profits: Profits are divided into three sub-groups:
(1) Dividends
(i) Undistributed profits
(iii) Corporate income tax
5. Mixed income of the self-employed: In India, as in other developing countries, there is fifth
category of factor income which is termed as mixed income of self-employed. In India a
good number of people are engaged in household industries, in family farms and other
unorganised enterprises. Because of self-employment nature of the business it is difficult
to separate wages for the work done by the self-employed from the surplus or profits made
by them. Therefore, the incomes earned by them are mix of wages, rent, interest and profit
and are, therefore, called mixed income of the self-employed.

3. The third step is to measure factor payments. Income paid out by each enterprise can be
estimated by gathering information about the number of units of each factor employed and the income
paid out to each unit of every factor. Price paid out to each factor multiplied by the number of units
of each factor employed would give us the factor’s income.

_ 4, The fzdding up L'Tf factor payments by all enterprises belonging to an industrial sector would
give us the incomes paid out to various factors by a particular industria] sector.

5. By summing up the incomes paid out by all industria] sectors i ; i
. .y . W tor
income which is also called net domestic product at factor cost (NDP Swﬂl obtain domestic fa
F 0

6. Finally, by adding net factor income eared from abroad
’ ) to d . .
we get net national product at factor cost (NNP;) which is a o Uc factor income or NDPyc

¢. In other words, this Methoq

‘bution sid . ,
strib income paid and/or recejyeq b

- ht ; Iso called national income,
come approach to measurement of national income is shq
wn through bar dia in Figure 2.6
grams in Figure 2.0-
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Circular Flow of Income and Nation

al Income Accounting a ‘7
Net Indirect
Taxes
Net Factor Income Consumplion of Consumption of
from Abroad Fixed Capital Fixed capital
Dividends Dividends
Undlstributed Undistributed
Profits Profile Profits Profits
Corporata Corporate
Income Tax Income Tax
Interesl Interest Intarest Interast
Rent Rent Rest Rent
Mixed Income Mixed Income of Mixed Income of Mixed Income of
of Self-employed Self-employed Self-employed Self-employed
Compensation to Compensation to Compensatlon to Compensation to
Employees Employees Employees Employees

Fig. 2.6. Income Approach to National Income
Compensation to Employees
From the above items of income categories compensation to employees requires further
explanation. Compensation to employees by the producers is the sum of wages and salaries, paid

both in cash and kind, and contribution to social security schemes of the employees made by the
employers. Thus, it has the following components:

Wages and Salaries: These include all payments made by the employers to their employees,
both in cash and kind, for the services they render to their employers.

Wages and Salaries Payable in Cash. They include the following:
(1) Wages and salaries received in cash by the employees from their employers.
(2) Payments received by the employees for overtime work done by them,

(3) Travelling allowance received by the employees for going to and coming home from their
work places.

(4) Bonuses, if any, receivable by the workers.

(5) Dearness allowance paid to the employees to neutralise the rise in cost of living.
(6) Vacation allowance and sick leave allowance,

(7) Leave travelling allowance (LTC).

(8) Commission provided, if any, to the sales staff on the sales.

Wages and Salaries in Kind, These are the remunerations in kind received in the form of goods
and services by the employees for their use by themselves or by the members of their households.
The following are some important types of remuneration received in kind.

(1) Housing accommodation provided free of cost.

(2) Freemeals and drinks (such as tea, coffee, cold drinks) provided free to the employees when
they are on duty,

(3) Uniforms and special clothing, if any, received free of cost by the employer.

(4) The free services of vehicles (cars, scooters, vans etc.) provided by the employers to their
employees.
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85 Macroeconomics : Tbeo")’mdpo’@m;‘] by the enterprises themselves.
5) Free provision of goods and services which ar® Frod‘ml 1o the workers working in cog}
Free travelling by the staff of railways of airlines. free
mines fall in this category. . lovess.
(6) Creches provided by the employers for the children of thetr e:-:p to their employees of value
(7) Value of interest on the free-interest loans giveD by the emplo} finterest by the emplovers
of concessions in interest on loans given o0 concessional rafes 0 intersst DY Lo¢ employers
to their employees.
il . . t
(8) Value of recreation and sport facilities provided by the employers 10
the members of their houscholds. . 3 ation relating to t
Employers’ contributions to social security schemes. Employers’ cont e éom.:gj..,ﬂ -"?
social security schemes of their employees such as life insurance, casualty m‘f-’-‘m‘ *rﬂ ibatory
provident fund (CPF), pension schemss are also a part of the compensation to empioye=s.
In addition to the above, in India’s pational income accounting, salaries anc.l 3110“‘;3123{" paidto
members of Parliament and State Legislatures, pay and allowances to the Prts:dfﬂt o dzf, .Stz.,e
Governors, ministers of Central and State Cabinets are also treatad as compensaton 10 SmPIOyESs.

Precautions. While estimating national income through income method the following preczutions

their employees and

2. Imputed rent of sclf-ocmpiedhonssarcﬁ:clndedin national income as these houses provide
services to those who ocu:pyﬂmnmditsnlnembemsﬂycsﬁmstedﬁcmthemaﬂ(etmk:dzz
3. iTlegal money such as kawala money, moneymedt}n-augbmggfingctc. are pot included

as they camnot be easily estimated

4. Waﬂguﬂsmchaspﬁzmwm,loﬂuixarcabonotinchded.

S.mpmmmmm(&m:igmxmmnfth:wmpmics)shouldmtbe
2s it has already been included as a part of profits.

6. Death duties, gift tax, wealth tax, tax on lotteries, etc., are paid from past savings or wealth2nd
not from current income. Therefore, th:yshou]dnotbetrmmdasamofnzﬁonal income of a year.

7. The receipts &omthcsaleofsecond‘handgoodsshnuldnetbemmd as a part of national
inoomc.Thisisbmnscd:cﬂlcofsacond-hmdgoodsdosnotMncwﬂows of goods and
services in the current year.

8. Income equal to the value of production used for self-consumption should be estimated and
included in the measure of national income. :
Expenditure Method

Expenditure method arrives at national income by adding up all expendinures made on goods
and services during a year. Income can be spent either on consumer goods or capital goods. Again,
expéenditure can be made by private individuals and households or by government and business
enterprises. Further, people of foreign countries spend on the goods and services which a country
exports to them. Similarly, people of a country spend on imports of goods and services from other
countries. We add up the following types of expenditure by households, government and by productive
enterprises to obtain national income:

1. Expenditure on consumer goods and services by individuals and houscholds. This is called
\1\ final private consumption expenditure, and is denoted by C.
Government’s expenditure on goods and services to satisfy collecti L
) government’s final consumption expenditure, and is denoted by G ve wants. This is called

separately inclndad
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Flow of Incoma and Natlonal Incoma Accounting B5

3. 'rhc ;:'xplcn(lllurc by productive enterprises on capital goods and inventories or stocks. This
in cnﬂgcg'fosx domestic capital formation, or gross domestic investment and is denot.ed b
[or . Gross domestic capital formation is divided into two parts: ’

() Gross fixed capital formation
(10 Addilir?n to the stocks or inventories of goods
4. The cx‘pcndn.urc made by foreigners on goods and services of a country exported to oth
countrics which are called exports and are denoted by X. We deduct from Ex ort ((); :f
cxpcntlll}lrc by people, enterprises and government of a country on imports (‘))W) ;f ; td.es!
and services from other countries, That is, we have to estimate net exports (that is, cxgg:s—

imports) or (X—M),

Thus, we add up the above four types of expenditure to get final expenditure on gross domestic
product at market prices (GDP, ). Thus, '

GDPyp = Privalc fmal consu_mption expenditure + Government’s final consumption expenditure
+ Gross domestic capital formation + Exports ~ Imports or

GDPyp = C+G+I+(X—M)

. =C+G+I1+Xn

On deducting consumption of fixed capital (i.e., depreciation) from gross domestic product at
market prices (GDPygp) we get net domestic product at market prices (NDP, ).

In this method, we then subtract net indirect taxes (that is, indirect taxes — subsidies) to arrive
at net domestic product at factor cost (NDPyy),

Gross Domestic Less Net Factor Income
Capital Formation Depreciation | fromabroad -
Net Domestic Less Net Indirect Tax Net Demestic
Capital Formation Capital Formaticn
Gowvt. Final Govt Final Govt. Final
Consumption Consumption Consumption
Expenditure Expenditure Expenditure
Private Final Private Final Private Final
Consumption Consumption Consumpftion
Expenditure Expenditure Expenditure
Net Exports Net Exports Net Exports
(X-M) (X-M) (X-M)
GDP,, — NDP,, > NDPg; —> NDPy,

Fig. 2.7, Expenditure Approach to National Income Concepts

Lastly, we add ‘net factor income from abroad’ to obtain net national product at factor cost
(NNP;), which is called national income. Thus,

NNPg. = GDP, ,— Consumption of Fixed capital - Net Indirect taxes + Net Factor Income from
Abroad.
Expenditure approach to national income is shown through bar diagram in Fig. . di

_(Note: To any concept of the domestic product, if we add *Net Income from Abroad’ we will get corresponding

National Product)

Government's expenditure on goods and services need explanation in some detail.
Services

Government’s Final Consumption Expenditure on Goods and . th. education,
The general government provides services such as defence, lay and on’lcr. publtw 't‘fr:im;es various
cultural services, etc., to satisfy collective wants of its citizens, The govemnment p

p—
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et Macrooconomics ; Thecry an POl 1c and incurs cost on the,
. co 3 .

goods and services from others for providing ifs gervices 10 1hc£vi§c its services to the people 1o

op emment employs severa)

. . t ‘
Thls cost O' gOOd.S and Scrvices plll\:hnSCd by |hC 80\’Cm|“cn .
I. ! h '“ 'n Van'.O“S dcp"' ““c"ls ““d

satisfy collective wants is called intermediate consumption. crearies i
persons, such as soldicrs, policemen, other official clerks, s¢ os (that i8 WOBES, salaries, cte.), botl
pays thcm \Vﬂgcs and snlnﬁcs_ Th\lS. cnmpcnsntion o CmNO)'c b n' SinCc govcm!“c“t gCI‘Icrﬂ"y

» . N % i ' 1C .
in cash and in kind, is another type of cost incurred by the Gov o gells them at a price much lower
does not sell its services and instead provides them free of cost 'Of ment are valued at their cost (g
than production cost, the value of services provided by the gos em Jiate consumption incurred by
the government. The cost is the sum of (1) expenditure on intermet :tc )
Government and (2) compensation to employees (Wages and salancs €c.): Lal priced Hich
; a s
However, the government also sells some goods and services, lhotlgh.ﬂtuf‘:':‘:”l‘; 0‘; dar t;) f‘,:;d
as hospital fees, tuition fees charged from the students in Government institu 'c'cs ifa0y: by h
out the cost of government services, proceeds from sales of some goods and services, 1t any, by the

government must be deducted. ‘
Thus, the Government's final consumption expenditure on goods and service
following items:
1. Compensation to employees
2. Intermediate consumption expenditure by the General Government which refers to purchases
of goods and services by the Government less sales of some goods by it.

3. Consumption of fixed capital.

Transfer Payments by the Government. Government expenditure on goods and services
needs to be distinguished from transfer payments by the government. A good amount of Government
expenditure is undertaken on making transfer payments which is notincluded in gross national product.
Main examples of transfer payments are social security benefits, unemployment allowance, old-age
pensions, interest on public debt. The reason for excluding them in estimation of national income is
that in sharp contrast to Government purchases of goods and services, they are not paid in exchange
for the contribution to the current production of goods or rendering of any service by the recipients
to the Government in the current year. In making transfer payments the Government just transfers a
part of its revenue to specific individuals without any contribution by them to the current production
of goods and services. To include these transfer payments in national income would amount to
overestimate current year's production. Therefore, they are not included in national income of a year.

Precautions. While estimating Gross Domestic Product through expenditure method or
measuring final expenditure on Gross National Product, the following precautions should be taken:

1. Second-hand goods: The expenditure made on second-hand goods should not be included
because this does not contribute to the current year production of goods and services,

2. Purchase of shares and bonds. Expenditure on purchase of old shares and bonds from other
people and from business enterprises should not be included while estimating Gross Domestic Product
through expenditure method. This is because bonds and shares are mere financial claims and do not
represent expenditure on currently produced goods and services,

3. Expenditure on transfer payments by government such ag unemp|
' 0 A0
pension should also not be included because no goods or productive scrvicgg ;;ncr?):j :c,',‘jms' old-age
by the recipients of these payments. Produced in exchange

4. Expenditure on intermediate goods such as fertilisers and s
cotton and yam by magufacturers of garments should also be excluded, T
avoid double counting. Therefore, for estimating Gross Domestje l‘rod.u
expenditure on final goods and services. 0

s includes the

y t!w farmers and wool,
his is because we have to
twe have to include only
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Clrcular I low of Incoma an Nallonal |
pifficulties In the Mensuremeny of Natlonal Income

‘There are many difficulties i measuring national income
involved are both conceptunl and siagjgyic| '
in the measurement of national income are

of acountry accurately, The difficulties

i ¥ | | !
N nature. Some of these difficulties or problems involved
enumerated below,

ntment of non-moneta
|, Tre S PROTON Sk & fa' lrun?ucllnm. The first problem relates the treatment of
non-monelar) , §8UCh s the services of housewives to the members of (h i
farm output consumed at home, On (his point, the g =mnbers of their families and

eneral agreement is 1o oy
' ' clude
pousewives while to include the value of fayp ulput consumed at home in the psyy i

income. This, however, gives ﬂﬂehm ccﬂmn anomalies, Ff’f exfmp]c.:, if aman cmploy’:;r;:ifc:;’c’g:::
for houschold work, payment 'f‘ er will appear as o positive item in national income. If the next das

{he man were to marry the maid-servant, she would be performing the same scr/ic;s aqn;;-xl da:/
without payments, In this event the value of national income would 80 down though ‘the rcai ao:oz;:
of goods and services performed remains the same ag before, '

2. Treatment of Government activities in national Income accounts, The second difficulty
arises with regard to the treatment of the government in national income accounts. On this point
the general viewpoint is that as regards the administrative functions of the government like justice,
administration and defence, they should be treated as giving rise to final consumption of such services
by the community as a whole so that contribution of general government activities will be equal
to the amount of wages and salaries paid by the government. As regards capital formation by the
government, this is treated at par with capital formation by private enterprises.

3. Treatment of income generated by foreign firms, The third major problem arises with regard
to the treatment of income arising out of activities of the foreign firms in a country. Should their income
form a part of the national income of the country in which they are located or should it belong to the
national income of the country owning the firms? On this point, the IMF viewpoint which is generally
accepted 1s that production and income arising from a foreign enterprise should be ascribed to the
country in which production takes place. However, profits eamed by foreign companies are credited
to the parent country.

Difficulties of Measuring National Income in Developing Countries

In developing countries like India, we face some special difficulties in estimating national income.
Some of these difficulties are given below:

1. A great difficulty in estimating national income in the developing countries like India arises
because of the prevalence of non-monetised transactions in such countries so that a considerable
part of the output does not come into the market at all, Agriculture still being largely in the narure
of subsistence farming in these countries, a major part of output is consumed at the farm itself. The

national statistician, therefore, has to face the problem of finding a suitable measure of value for this
part of national output, '

2. Because of illiteracy in the developing countries most producers have no idea of the quantity
and value of theiy output and do not follow the practice of keeping regular accounts. This !n-}kvs the
task of getting relinble information from a large number of petty producers all the more difficult

3. Because of underdevelopment, occupational specialisation is still incomplete, so ‘h;“ ‘é‘::
'8 a lack of differentiation In economic functioning. An individual may receive income pan: o
ferm Ownership, partly from manual work in industry in the slack season, etc. This makes the

.

of estimating natjgnal income very difficult.

. : g ari use

4. Another difficulty in measuring national income in the dcvcloPU"B countries :z’:,’lri:sm

Production, both agricultural and industrial, is unorganis "_" and scattered in .thcsc counl anlu’n| are some
fotadmit of easy calculation. In India, sgriculture, cottage industries and indigenous :
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(@) the sum of values of all final goods and services produced;
(M) the sum of all incomes, in eash and kind, accruing to factors of production in a year; and
0 . i ‘ l ,
(¢) the sum of consumers’ expenditure, net investment expenditure and government expenditure
on goods and services,

Sum of n|: imcome, sum of values of all final production, and sum of all expenditures will be
the smnc-_bllf the significance of each arises from the fact that they reflect the three basic activities
of the nation’s cconomy, viz,, production, distribution and expenditure,

CIRCULAR FLOW OF INCOME

The modern economy.is a monetary cconomy. In the modern economy, money is used in the
process of exchange. Money has facilitated the process of exchange and has removed the difficulties
of the barter system. Thus money acts as a medium of exchange. The households supply the economic
resources or factors to the productive firms and receive in return the payments in terms of money.
In is thus clear that, in the monetary economy, there will be flows of money corresponding to the
flows of economic resources and the flows of goods and services. But each money flow is in opposite

direction to the real flow.

Circular Income Flow in a Two-Sector Economy

To begin with, to explain the circular flow of income and expenditure we assume that all
incomes which households receive are spent on consumer goods and services and thus there is
no savings by them. Similarly, we assume that there is no investment by business firms. Money

flows of income and expenditure corresponding to the real flows in terms of goods, services and
2.1. In the upper loop of this figure, the resources such as

flow from households to business firms as indicated by the
arrow mark. In opposite direction to this, money flows from business firms to the households as factor
payments such as wages, rent, interest and profits. In the lower part of the figure, money flows from
households to firms as consumption expenditure made by the households on the goods and services
produced by the firms, while the flow of goods and services is in opposite direction from business
firms to households. Thus we see that monecy flows from business firms to households as factor

.Labou"l
2095+ Rent, Interest, Proﬂ&.
*fpactor Payments

productive factors are shown in Figure
land, capital and entrepreneurial ability

Land, Capital & Engg oris
e

Borrowing
- 'Flnlnélii for Investment |

..._‘(”.. X oy ,"
,H""MOMU *] - “Market

‘Buslness
- Flrma

Coﬂsumpuon E)tpﬁﬂd“‘“e

Flow of Goods and Se™°*®
Fig. 2.1. Cireular Flow of Income in a Simple Two-Sector Economy
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or income, This cireular Now o) Money will continue indefinitely week by week and g, by ‘/'--' y
This is how the economy functione ‘"

t 4 Y { .
N \-:] may, howey er, be pointed ont that this flow of money income will nol plwnyu remnim (. i
oume. In other words, (he Tow of money income will not always continue ata copygg, lou.S

‘h:,l)‘:;: ::::ltpm“i“m the circnlar flow of money income will contract, f.r"‘- ‘W'L' ,'l’l‘l"*tucllc-um r;,‘
e "N Years of prospenity it will expand, i.¢., will become grenter in volume, 9, - .
vecause the Nlow ofmoney is n meacure of national income and will, therefore, change w gy, iy,
'n the national income. 1n vears of depression, when national income is low, the volume op ni,"?x
of money will be small and In years of prosperity when the level of national income ig g, hi .
the flow of money will be large, .
In onder to make our analyxis simple and to explain the central issues involvcd., We take ny,,
Assumptions. In the first place, we assume that neither the households save from their income'c, n,/
the firms save from their profits. We further nssume that the government does not play any part in ..
national aconomy. In other wonds, the government does not receive any money from the people by , &
of taxes, nor does the povernment spend any money on the goods and services produced by (he fitms 0/
on the resources and senvices supplied by the houscholds, Thirdly, we assume that the €conomy ncith:
tmports goods and senvices, nor exports anything. In other words, in our above analysis we have tot
taken into account the role of forcign trade. In fact we have explained above the flow of money i,
occurs i the finctioning of a closed economy with no savings and no role of government.

Circular Money Flow with Saving and Investment

In our above analysis of the circular flow of money we have assumed that all income which
the bouscholds receive, they spend it on consumer goods and services. As a result, circular flow of
moacy spending and income remains undiminished, We will now explain if households save 5 pan
of their mcome, how their savings will affect money flows in the economy. When households save,
their expenditure oa goods and services will decline to that extent and as a result money flow to the
business firms will contract. With reduced money receipts, firms will hire fewer workers (or lay off
some workers) or reduce the factor payments they make to the suppliers of factors such as workers,
This will lead 10 the fall in total incomes of the households. Thus, savings reduce the flow of money
expenditure 1o the business firms and will cause a fall in economy'’s total income. Economists therefore
call savings a leakage from the money expenditure flow.

But savings by households need not lead to reduced aggregate spending and income if they find
their way back into flow of expenditure. In free market economies there exists a set of institutions
such 25 banks, insurance companies, financial houses, stock markets where households deposit their
savings. All these institutions together are called financial institutions or financial market. We assume
that all the savings of households come in the financial market, We further assume that there are no
inter-household borrowings,

It is business firms who borrow from the financial market for investment in capital goods such
as machines, factories, wols and instruments, trucks. Firms spend on investment in order to c.‘p&md
their productive capacity in future. Thus, through investment expenditure by borrowing the savings
of the houscholds deposited in financial market are again brought into the expenditure stream and as
a result total flow of spending does not decrease. Circular money flow with saving and investment 1S
illustrated in Fig. 2.1 where in the middle part a box representing financial market is drawn. Money
flow of savings is shown from the households towards the financial market. Then flow of investment |
expenditure is shown as borrowing by business firms from the financial market'.

1. It may be noted that business fimms also save when they do not distribyte among shareholders all the profits
made by them and keep the undistributed profits as reserves, We are ignoring them in our money ﬂow_ analy-
sis as firms themselves use their savings for buy'ag machinery and making other investment expenditure.
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~ 7 ey

invetrnent 7’;"‘”-"" o
piye.

ot ey s 2og Lol 2
1}(‘: of the planned .s:;u;ir;un? As o result of fall 1n planned investment '77::',’:”::..‘, ',):;’_::;
ay cmpluymcu;l \lw “ll' and lhcrchrc the flow of money will contract, If the equainy beswess yizmnes
o savings and plannec |nvcs!mcpl s disturbed by increass in savings, then the immediats of7sen s5e
\er that the stocks of good.'q lying in lhg shclvcs. of the shops will increzsz (25 some of e gooks 527 =
ot be sold due to the fall in consumption /.e., Increase in savings). Owing to the deficiency of demard
hat for goods and the accumulation of stocks, retailers wnll place small orders wvh the winlezles
Consequently, smaller amount of goods will be produced and thersfors foser capaal zonts e
machinery will be needed with the result that fixed investment will t2nd 15 il Tous the oisimzs
effect of cither the fall in planned investment or the increase in planned savings is the szme, moms'y,
ich the fall in income, output, employment and prices with the result that the flow of money =1 o
of On the other hand, if the equality between planned savings and planned fmvestment is Somxrsed
an by the increase in investment demand, the result will be increase in income, output 2od employmet
ve, Consequently, the flow of money income will expand.
the It is thus clear from the above analysis that the flow of money income will conzirue ot 2 comstan:
off level only when the condition of equality berween planned saving and irvestment s satisfizd [t =2s
s, believed by classical economists that financial market provides a mechanism which coordinztes T
ey savings of households and the investment expenditure by the firms. Rate of interess, wiich is e
ore price for the use of savings, is determined by saving and investment. If s2vings exceed mvemmen:
expenditure, rate of interest falls so that, at a lower rate of interest, investment ncreases z=d both
ind become equal. On the contrary, if investment expenditure is greater than savings, rzt2 of mizrzst
ons will rise so that at a higher rate of interest savings increase and become equal to plaoned mvesmess
Yeir expenditure.
ime However, an eminent British economist, J.M. Keynes, refuted the above argument that chamges
00 in rate of interest will cause saving and investment to become equal. According to bim sincz =2
free market capitalist economy investment is made by business enterprises and savings arz =iy
ach done by households and for different reasons, there is no guarantee that plannad invesmest wil b2
and equal to planned savings and thus fluctuations in income, output and employmsnt are m.“'_*’t-
ngs As a result, circular flow of income does not continue at a steady level in 2 free-enterprise capra=st
| as economy unless certain corrective and preventive steps are taken by the governmsz! © mainim
tis stability in the economy.
ey Saving-Investment Identity in National Income Accounts _
ent ‘ Despite the fact that people who save are different from the business firms “mp'm?ﬂ‘.f:i
in national income accounts savings are identical or always equal to fmﬂm.cq;ﬁ; Sf;:;_.;_z
; sector economy having no roles of Government and foreign trade. This is a basic 12Ty £ circaler
s income accounts which needs to be carefully understood. Of course, in our above analysss o2
ly- investment by business firms can differ from SIVIRES O

flow of income, we explained that planned
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household. Butin that analysis we referred to planned or inten

.l‘n_t}br and nﬂect‘ the flow of national income. However, in national ving and investmeny Moy
With actual Saving and acpual investment, It is these actual or realised s2 g,

. . 1y : R llowing way, rg
identical in national income accounts. We can prove their identity 1 o de, th Iy
. ' ign trade, the valye
In a simple economy which has neither government, nor foreign ' of Ottty
S Id. Since the value of gy ut

Produced which we ‘ e value of output s0 : )
in a simple t\vo-scct(ci»:ncoc:fnl:)):n})"l?scg::;l“:ommc sum of consumption expenditure and mv“‘mcm
expenditure, we have

Y =C+1 . (i)

Where ¥ = Value of aggregate output, C = Consumption expenditure and [ = I“Vcstmenl
expenditure,

A pertinent question which arises here is what happens to the m_asold output, Thf‘. unsold g,
leads to the increase in the inventories of goods and in national income accounting incrcase i[
inventories of goods is treated as a part of actual investment. This may be COPSIdeR’-d as the fimm
selling the goods to themselves to add to their inventories. Thus, gross national product (GNP;
produced is used either for consumption or for investment. '

Now, look at the gross national product or income in the simple economy from the vichoim of
its allocation between consumption and saving. Since national income (which is equal to GNP) ¢z,
be either consumed or saved,’. we have

Y=C+S§ ) ! ...(,r'f)
From the identities (i) and (i) we get
C+l=7Y=C+S . : (i)

The left-hand side of the identity (iif), namely C + ] = Y shows the components of aggregate
demand (that is, aggregate expenditure on goods and services produced) and the right-hand side of
the identity (iif) namely Y= C+ S shows the allocation of national income to either consumption o
saving. Thus, the identity (iif) shows that the value of output produced or sold is equal to the tota|
income received. It is income received that is spent on goods and services produced,

Now subtracting the consumption (C) from both sides of the identity (iif) we have
I=8
Thus, in our two-sector simple economy with neither government, nor foreign trade, investment
is identically equal to saving.
Circular Income Flow in a Three-Sector Economy with Government Sector

In our above analysis of money flow, we have ignored the existence of government for the sake of
making our circular flow model simple. This is quite unrealistic because government absorbs a good
part of the incomes eamed by households, Government affects the economy in a number of ways.
Here we will concentrate on its taxing, spending and borrowing roles. Govenment purchases goods
and services just as households and firms do. Government expenditure takes many forms including
spending on capital goods and infrastructure (highways, power, communication), on defence goods,
and on education and public health and so on. These add to the money flows which are shown if
Fig. 2.2 where a box representing Government has been drawn. It will be seen that government
purchases of goods and services from firms and households are shown as flow of money spending
on goods and services,

2. Note that decisions about saving are made both by households and pysi Yy ¢
counts they are generally put together and referred to as private scctc:l:ls::igms. In national income 8
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Fig. 2.2. Circular Money Flow Model with Government

Government expenditure may be financed through taxes, out of assets or by barrowing, Tre
—amey flow from houscholds and business firms to the government is labelled as tax payments in

Fig 2.2. This money flow includes all the tax payments made by households less transfer payments
ecerved from the Government. Transfer payments are treated as negative tax payments.

Another method of financing Government expenditure is borrowing from the financial mariest.
This can be represented by the money flow from the financial market to the Government and i3 labelled
25 Govemnment borrowing (To avoid confusion we have not drawn this money flow from financial
market to the Government). Government borrowing increases the demand for credit which causes

rate of misrest to rise. The government borrowing through its effect on the rate of interest affects the
bd:anou: of firms and households. Business firms consider the interest rate as cost ofbonmng wnd
the rise i the interest rate as a result of borrowing by the Government lowers private investment.
However, households who view the rate of interest as return on savings feel encouraged to save mors.

%"dfturo on

I follows from sbove that the inclusion of the Government sector significantly affects the overall
scomomuc situation. Total expenditure flow in the economy is now the sum of consumption expenditurs
(demoted by C) , mnvestment expenditure (/) and Government expenditure (denoted by G). Thus

Total expenditure (£) = C+/+G ()
Towl meome (Y) received is allocated to consumption (C), savings (5) and taxes (7). Thus
Y=C+§5+T A
Since expendinure () made must be equal to the income received (), from equations (i) aad
(i) sbove we have
C+l+G = C+5+7T . (1)
Since C ocours on both sides of the equation (1if) and will therefore be cancelled out, we have
1+G =8§+T (™)
By reamranging we obtain
G-T= §-1 R

Equation (v) is very significant as it depicts what would be the consequences if goverment
budget is not balanced. If Governnent expenditure () is greater than the tax revenue (D), that is,
G >T, the government will have a budget deficit. To finance the budget deficit, the Government
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. Another important conclusion that can be drawn from nati
'nC(?mom‘i“g Govemment expenditure relates to the condition for equ
National income identity with government expenditure is
Y =C+I1+G
o i Vol tional saving or simp) .
In the expression (v7), the left hand side (1~ € ~ () represents na ' » 2 Aply gy

s treated ag copgyp,. M
(5). Note that in this National Income Identity all government c;(pcn’diullr‘v:1 iidc ;c e l.' A Moy,
expenditure. To understand the identity (vi), we break up its left- lnn;” o I' i'-"""#’: “"linn;"
saving into two parts, namely, (1) private saving (¥ - 7~ C) and (2) public saving (i.. Saving O 1

govemment (7- G). Thus
§=(Y=-T-O+(T-G)Y-C-G

(Note that Y- T'is disposable income)

If the economy is to remain in a steady state, the flows into the financial market (1., Privat,
saving and public saving) must balance the  flows out of the financial market, Thus, for the econony
to remain in a steady state

Y-T-C+(T-G) = |

That is, for the economy to remain in a steady state, the sum of private saving and public saving
must equal investment.

Money Flows in the Four-Sector Open Economy : Adding Forelgn Sector

We now turn to explain the money flows that are generated in an open economy, that is, economy
which have trade relations with foreign countries, Thus, the inclusion of the foreign sector will reveal
to us the interaction of the domestic economy with foreign countries, Foreigners interact with (he
domestic firms and households through exports and imports of goods and services as well as through
borrowing and lending operations through financial market, Goods and services produced within the
domestic territory which are sold to the foreigners are called exports,

Flg- 2.3. Circular Flow of Income in an Open Economy i) Government an Forelgn Sector
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On the ather haned, Parchinges of forewgn-made goods and e
l,'ﬂ”(?f’ ill’l’m[ln, [Imuu."[ } '””M'”mr additional money flows

¢ and imports nlso exast in the econamy. analvaia
exports ( poree = hat v In our analysis, we assume iy i only the business
(irms of the domestic economy thatinteract with foreign countries and ther y ¥ the business
¢ , - creloge ey g
goods and services. A flow of money spending on imports has been she zport and import

o ALty . . ‘ N 10 be occurring
(he domestic business firms to the forcign countries (f.e., rest of the world) . On the ar:"n‘ fr;mn
' © contrary, flow

of money expenditure on exports of a domestic cconomy has been shown to be taking ol

foreign countries to the business firms of the domestic economy. If exports are c;;ual‘ togr}f-a'% Vo
dhen there exists a balance of trade. Generally, exports and imports are not equal to 'ac}; ‘r’:;{:’»m.
value of exports exceeds the value of imports, trade surplus occurs, On the other han:i if ':a;f;: r’:
imports exceeds value of exports of a country, frade deficit occurs, ' o

rvices by domestic households are

that oceuyr §
I the open economy when

In the open ccﬁnnomy there is interaction bcllwccn countries not only through exports 2nd imports
of goods and services but also through borrowing and lending funds or what is also called financizl
market. These days financial markets around the world have become well integrated. When there is
o trade surplus in the economy, that is, when exports (X) exceed imports (M), net capital outflow i}
ke place. By net capital outflow we mean foreigners will borrow from domestic savers to finance
{heir purchases of our exports. In this way as a result of net capital outflow domestic szvers will lend
1o foreigners, that is, acquire forcign financial assets.

On the contrary, in case of import surplus, that is, when imports are greater than exports, trade
deficit will occur. Therefore, in case of trade deficit, domestic consumer households znd business
firms will borrow from abroad to finance their excess of imports over exports. This means there
will be capital inflow in our economy. As a result, foreigners will acquire domestic financial assets.
Saving-Investment Identity in the Open Economy

From the circular flows that occur in the open economy the national income must be measured
by aggregate expenditure that includes net of exports, that is, X-M where X represents exports and
M represents imports. Imports must be subtracted from the total expenditure made by foreigners on
our domestically produced goods and services exported to them to get the value of net exports. Thus,
in the open economy

National Income = C+/+ G +NX
where NX represents net exports, X-M.
Since national income can be either consumed, saved or paid as taxes to the Government we have
C+I+G+NX = C+8§+T
Since C is common on both sides of the above equation we have
I+G+NX =8§+T ...(V)

The above equation (vi) shows that in the open economy sum of private investment (J),

Government expenditure (G) and net exports (NX) is equal to the sum of savings and tax revenue.

_ Relation of Aggregate Domestic Output and Expenditure with Trade Balance. The nation;l
income account identity of the open economy can be used further to show how aggregate domestic
output (Y) and aggregate expenditure (C + I + G) and net exports (i.e., trade balance) are related.
Rearranging the national income of the open economy (Y=C+/I+ G + NX), we have
NX = Y- (C+1+G)
where C+ 1+ Gis aggregate domestic expenditure. Thus
Net Exports = National Domestic Product (Y) - Aggregate Domestic Expenditure

From above it follows that in an open economy aggregate domestic expenditure need not be ctqzl;)l
to the aggregate domestic output of goods and services (.., Y). If aggregate domestic outpu
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The national income identity of expression (viif) shows that the cconomy s net exports (1) iy,
Gh‘\a}-s be equal to the difference between saving and investment. The net exporls are {l{fﬁ calley
frade balance because it shows the difference between exports and imports of an economy. he trady
balance (NX) may be positive or negative. If exports exceed imports, tr ade balance (MX) i pesitiy,
and if exports fall short of imports, the trade balance (NX) is negative.

But the important result that follows from national income identity of the open economy relsts.
to the link between international capital flows and the goods market. 1f § — I'in (viil) is positiys,
that is, if the economy’s national saving exceeds domestic investment, it will be lending the ezczs,
funds to foreigners, that is, there will be net capital outflow from the economy. On the other hand, i¢
S — I is negative, that is, if domestic investment exceeds domestic saving, the economy will &
borrowing from abroad to finance the excess investment. That is, there will be nef capital infloy izt
the economy to finance higher capital formation in the economy.

It follows from above that net capital flows (S — /) always equal the trade balance or to currst
account balance which is the broader term that includes ir{visible.s (that is, exports and imports of
services) also. '

NATIONAL INCOME AND NATIONAL PRODUCT

The sum of all incomes of the people of a country is called national income: This national incoms
is greatly related to the national product. In fact in a two-sector economy without the Governmezt
and its imposition of indirect taxes and grant of subsidies and also assuming no depreciation natiozz!
Income and national product are one and the same thing. The incomes which different people of tz
SOCIEty get are obtained by them for their contribution of labour, land, capital and entrepreneuriz!
scmces to the national production. Hence the income which the labourers get are wages for 2z
productive services which labourers lend to the various firms which undertake the work of productics.
z:l:sﬂ?::;): :;?:l!;;rss of l.and get income as rent Pecause of their contribution of land to the produc:jm
205 Work of productget interest fox: lending their money capital to the cntrcpr'encm for unde'nah?z
work of production a::)(;lbor bysmyss. The entrepreneurs get pl:of?ls fqr starting and organising &
individuals of a copp c‘;mflg ns!c gnd uncer'talnty involved in it. !t is thus clear that the differe®*
money capital, or z5 r;z;_l t;:n. their income either as wages of th.enr labour, or as interest on t.b-"-’
as wages, rent, interens an(c)lr eir lapd, or as ;')roﬁle.z for their enterprise. The sum of incomes obtziz#

profits is the national income of the country,

Various h . b
their labour l;?::l?; IObtaln their income from the productive firms or businesses which utilisz
eamed by the vario ul; : and other services for the production of goods and services. The incorm=s
ouseholds and individuals from the work of production are in fact costs &
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| produced 10 1N CUFTENt year (20, 3.4 "Mt Year 2013-14 we multiply the outputs of final

. nc ) by the pri
g jmaten 10 column 6. Summing up the vayes 0';}':::;‘”!?1': base year (1999-2000), and record
in

(e ‘”4 (e (ol entimate of ¥ 19,948,240 which is the el ('Mal 800ds evaluated at base-year prices
- )

v t., (or (he current year (2006-07). ’ (or gross national income at constant
||"

(11 be noticed y
[ W il ber from Table | that for the current year 2013-14, whereas the value of nominal

- cequal 10 T55,04,200, the real GNP §
GNP i* ear al GNP is only ¥ 39,98,240. This is because market prices hav
qeeh petween the base year (1999-2000) and the current year (200;-017). ikt

s cnlculntmn. of real GNP helps us to know whether the availability of real goods and services
1 the economy has increased over time, Besides, by calculating the percentge change of real GNP in
Jyear enables us to measure rate of economic growth in a year. Further, it is real GNP that is often
used for makir?g comparisons of international standards of living and rates of economic growth of
(arious countrics.

Finally, with the help of nominal GNP and real GNP we can measure rate of inflation that has
(aken place over time. This measure of rate of inflation is known as GNP deflator. This is calculated

as follows :
. Nominal GNP of a year
= NP 0
GNP Deflator Real GNP of the y %10

LIMITATIONS OF GDP CONCEPT AS A MEASURE OF SOCIAL WELFARE

National income, of GNP, as explained in the last chapter, measures the value of aggregate output
of goods and services produced in a year. Since goods and servic§ saﬁ§fy the wants of the people,
national income OF GNP has often been used as a measure of satisfaction or economic 'welfare of
the people. The greater the magnitude of national income, the greater the level of economic wclfar.c.
Besides, economic progress or what is now generally called economic growth has been measured_m
rerms of increase in national income (that is, increase in GNP or W) in terms of tcftal or per capita
ircome. In recent years doubts have been expressed about the validity of national income OF gross

national product (GNP) as a measure and index of economic welfare.
It has been asserted by several modern economists that national income as itis Mly defined is
¢ welfare. According to them, in order to obtain a tru¢ measure

ot a sati f economi :
not 2 satisfactory measure of €C is both in the form of additions and subtractions have to be

of economic welfare, some adjustmen -~ _ \
made in the aggregate of national income. National income, as it is usually conccwefi and measured,
inchudes some things that do not increase welfare of the pcoplc: Therefore, such things m_:ght to be
excluded in order to get a true measure of economic welfare, This true measure of economic welfare

is now ofien called “Net Economic Welfare” or simply NEW. On the oth'cr hzu.td. the usual concept
of national income excludes some go0ds and services which increase satisfaction of the people and
therefore ought 10 be included in any good index of Net Economic Welfare. '

As regards the things that ought to be added to obtain the index of Net Economic Welfare (NEW),
the first important thing is the value of satisfaction that people derive from leisure. The usual concept
of national income (or GNP) does not attach any significance to the amount of leisure pcop19 enjoy.
However, the individuals derive satisfaction not only from the consumption of goods and services but
oo -ﬁmm leisure they have, Therefore, for constructing any index of net economic welfare, the value
Of leisure which the PcOpIc' enjoy mus't also be included: For example, if the average working hours
are reduced, this is likely to reduce national production Of national income but may raise welfare of

th .
¢ people by enabling them to enjoy more leisure,

I

—————r3 .
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The other important items that ought to be 88898 ' 70 yich 8% 7 o instance, Services
non-marketed personal services (that is, the W"' elfert of b put they are not recordeq
the market) which also greatly raise the satisfaction and 444 10 B welf2? idvals to themselve
rendered by the housewives to the family members gertly mddvd by the I not get registereq
iﬁ national income accounting. Likewise, personal servioes I theif welfere b -dowdfare, the valye

such as gardening, painting one’s own house significantly m’cindex of ecoP :C[ o be incorporated
in the national income or GNP. Hence in order to get WW welfare ough )
of non-market activities such as pérsonal services whic < come, ention M3y be made of
onal he production of modem

. nati
As regards the items that have to be deducted from the 2 o1l kBOWD, o 8
those harmful effects which resultfrom increase in outpst ASTS ™% /1y pess which significantly
industries pollutes the environment such as polluting aif watel tly increased national income
has gre3 #as tended to reduce the

reduce welfare of the people. Though modem induswia“ﬂﬁ?"ﬂ nd noise
of the countries but by causing air pollution, water pollutio fare, negative values ought to

. e .
welfare of the people. Therefore, for preparing a measure of net “cﬁan of goods and services. The
be assigned to the environment pollution that results from the produ sts of economic growth
various forms of pollution of eavironment have often beed referred t0 aso‘::mi o welfare. ;
which, like other costs, hvembededudedwobmmmemdaofnetec

. . f wasteful and non-
from environment ion. certain other deductions on account 0 » oot
Apar poitiios, ce and law courts so as to maintain

r i ccxpcndiun'csuchasGovcmmmtcxpendimmpoﬁ .
m:wdaand on defence to protect the country from external aggression. These have been called
“regrettable costs™, because economists consider them regrettzble necessities expenditure on which
does not lead o increase in welfare of the people. Hence expenditure on them should be excluded

from GNP to zrrive 2t the measure of net economic welfare.
To sum up, the relztion between national income (GNP) and Net Economic Welfare (NEW) can
be represented as follows:
Rezl GNP
— Depreciation
+ Value of leisure
+ Value of non-market activities (i.e., services of housewives and personal services)
- Environment pollution
~ Fegrenzble costs
= Net Economic Welfare
ButitiswoﬂhmcnﬁoningdmwcnthcmcasureoanEco .
indi : nomic Welfare (NEW ined
bt docts m!n fmlmy e inin - ol eojoyed by the people. There are other lh:(\xI:E S w)lfs l:;ktl‘an a
sxqmﬁ;an role in clermin 1§h welfare of @ nation and which do not get registered in 8 A lti 2 piay
orin Net Economic Welfare. Thus, compositionof ational output s between wage oy o
increase mim::ll —rid gaod:t:im,,, individuals determine welfare to o grfetg e lmmr;\s
tionel income T capitai : atextent, [fwith the
poorer, then this growth in national m‘::cof;:p ‘l:dlncome .lhe.mh are getting richer and the lf\Vlﬂ:ﬁn
Professor Hicks rightly remarks, “Th PEr C3pitaincome cannot be gy poor geting
"y he disnosel of the co ¢ national income onjy measures gh said to promote welfare.
services at the disposal of the community during the year. iy the total volume of goods and

the way in which the national income is divided up between n'c: :::2 us uolli:ng, Jor example, about
poor. '

4. J.R Hicks, The Soclal Framework. Per capita income may
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: well-being of the people may S i

be vETY high butlthc ¢ ; ¢ 3‘“ | .”iw_u‘P c ".‘.“- t"c very low because the natio
Fa larger quantity of war matenal. This is a Very important factor because it s
a larg . i bl . s S

0 { various countries are spending quite a large part of national budgets on
at Wi ) .

th ¢ materials and the greater the expenditure on the defence forces, the sm

war hk :

1l-being of the people, given the size of national and per capita income.
well-beng

nal output consists
a well known fact
he manufacture of
aller will be the actual

Similarly, the well-being ofthe people also depends upon the relative proportions of wage-goods
(necessities) and luxuries in the composition of national product. It may be noted that in a country
if luxuries are being produced in rclativc.ly greater quantities than the wage-goods, then in that case
while the few rich will be rolling in luxuries, the poor will be deprived of even sufficient quantities of
necessities of life. Likewise, national and per capita income do not accurately reflect improvements
in the quality of products. This is a shortcoming because improvements in the quality of products
affect the economic welfare of the people as much as the increase in quantities of goods.

Lastly, the increase in national income does not truly indicate the increase in welfare of the
people because it does not take into account how the national income is being produced and how
the increase in it has been brought about. If increase in national income has been brought about by
making workers work longer hours which impair their health and efficiency, then this increase in
netional income will not promote welfare but will adversely affect it. Similarly, if the increase in
national income has been obtained by introducing labour-saving machinery throwing out a large
pumber of workers out of employment, this growth in national income increases unemployment and
therefore cannot lead to the increase in social welfare.

THE CONCEPT OF GREEN GNP

We have explained above the limitations of GDP or GNP as a measure of welfare. In recent years
the economists have realised that in national income accounting two aspects or costs of producing
GDP need to be incorporated in estimating GDP or national income so that it should truly reflect
welfare of the people. These real costs are of two types. First, when producing GDP firms pollute
the air and water which adversely affects the welfare of the people. Thus, it has been found that

income the costs of pollution of air and water by the firms in the production process of goods must
be subtracted 1o arrive at what has been called green GDP or green GNP.

~ Another important aspect of producing GDP which requires adjustment for calculating green GDP
's depletion of natural resources such as oil, forests, coal and natural gas. Conventional national
ol g does not take into account the depletion of natural resources, For example, when
renepioy, machines pump out oil from an underground field, it leads to the depletion of the non-
iy rm“f’c“ but no deduction is made to account for the depletion of oil reserves in national
;:::::: ac;:o nnng. In fact, the depletion of natural resources should be treated as a type of negative
P cs? nvestment which if accounted for in national income accounting would tend to lower the
cuttin t;matcs, Other things remaining the same. Likewise, measuring the true cost of timber from
also sf“ :cs ‘or the forests which causes not only destruction of forests—a natural resou:c_e—bt'n
erosion b rosion. The damage caused by cutting trees and thereby destroying forests gnd causing soil
" ﬂsses'scd and accor dingly proper deduction be made on this count in estimation of real GDP.
and dev?;:@on the loss due to destruction of forests can be better undcrsfood flrom {hc dam:gc
resul n.on ¢aused by floods and landslides in May 2013 in Uttarakhand in India which was the
) Ofcumng of trees in the forests nearby the rivers passing through them. It follows from above

L%
that “ideq/ accounting system, the economic costs of environment degradation would be subtracted
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pecause they provide real ecop butian o oulput and all activities that i o ':
omic benefits 1o the people be added ¢ at improve the n,;, |
0 oulput.” o

degradation are incomporated in the
e odified Howev?r, inteodu:-nvtil:::’r&s.thpnlcs of gfowth of GDP and their growth policje, ool
who want higher GDP growth nt I8 13 not entirely correct to blame the developing ¢, '
. e to reduce poverty in their countrics. As a matter of f A0t

developed countries who in the past for achievi 1 ; of fact, it j, ,
the emission of harmfe p c ncym.g rapid industrial growth have contribute , Ie

. 0 harm 1 gases such as carbon dioxide that have significantly contributed to the "
warming aﬁ'cc‘t1ng the welfare of the people of developing countries. As a matter of fact, the, 5! ™
not .only prolede financial assistance to the developing countries for the harm done to thﬁ g}m,.',.'
environment in their growth process in the past but also transfer technology that ensures pmmf;aa
of environment from the growth processes in poor developing countries. o

However, apart from what the developed countries say, it needs to be emphasized that Indja ..
green growth, that is, growth in green GDP so as to ensure environment sustainability and there, )
promote the welfare not only of the current generation but also of future generations. India’s qucg{f‘;
growth with the objective to pull out millions of its people from poverty is a necessary and legitimat;
pursuit. But so is the pursuit of clean and safe environment and conservation of natural resources, \,
growth process can afford to neglect the environmental consequences of economic activity, or alloy
unsustainable depletion and deterioration of natural resources. For the last over one decade (2003-:,
India is the second fastest growing economy in the world, next only to China. The growth cannot uak:
place without additional energy. The Indian economy heavily depends on coal and hydropower 1y
meet its energy needs and the growth of each of these energy sources involves the issue of protecrior
of environment and depletion of its natural resources. Therefore, the pursuit of our growth objecav
has to be reconciled with the objective of protection of environment. Unfortunately, the expenenc: )
of growth in many countries and our own experience suggests that environmental pollution 2né
unsustainable depletion and deterioration of natural resources occur due to laxity in environmer

*monitoring. This has to be avoided in the future to achieve clean and sustainable growth. Therefore.

we have to explore the sources and practices that use less of the polluting agents and more of clex
sources of energy such as solar energy and nuclear energy. A good start has already been made

India in both these alternative sources of energy. .

It growth of green GDP is adopting the pursued, then the growth will promote welfare ot"thl
people and protect them from health hazards. For such growth to occur, envirog:mcntal and ccologﬁ
consequences of growth activities must be taken into account. The current estimates of _growih b; .
on GDP and national income as conventionally measured do not reflect a true and genuine gro .
the sense of green and sustainable growth. Kenneth Arrow and Parthadas Gupta ,ﬁnddl‘?d’fh : gl;‘:l |
rate to be 2.5 to 3 per cent lower than the reported average of 7.6 per cent achieved in

inclusit¢
years (2003-14). Therefore, we conclude that a green ¢ vth more |

conomy will make grov el
and sustainable. Neglecting the ecological consequences of growth adversely affects the
the people in the long run.

SOME EXAMPLES OF NATIONALIN

i f calculation of nati
et o, neom pmttl’ll 6:]'0 :n{:i value added method.

Lamely, e i income metno :

, expenditure method, inco 7

5. Andrew B Abel, Ben S B’cmankc and Dean Croushore; Macroeconomics
oy . Abel, Ben S. ]

COME CALCULAT[ON

lhod:'.
onal income by thre° o=

R
ih edition, Pe&rs°™ 20074

Scanned with CamScanner

— - —



4 /v
(2 N S P
Oﬂu Mbm E\_) Alﬂ,‘erAD " l0sasyg Q(tw,‘DA,, 9 1540 19 2lna
oAl
rd l’)“aﬂ-‘\f - 4 o,}'])"l’l\\ Aas '.'1 f"t‘,. 4 ’0 ﬁxllmlil( ”‘JV‘L-/D 1L,

’

':- "V'Iﬂb\‘- ‘ﬂ l,/’/)l";’

ﬂ i‘u e L‘ ’\"f\/{"m xO I lsAer 7 22 Ll Sl B Va -
1

] 4
r 1, Eachiite Al 'J}wwxp Y Tenn, '9

Can Cla

z ) F
2 r
e by H"L‘l’\-l- dﬁ 911 f\(M l/\ ("'%(‘J|~ Be'd a&_ 171[0!’.// L"I]’,_,/ f/‘
L Ao T 13A Faas Y4 p‘ 3 el '¢ }.Jf’,ﬂym, E’J«'—”’wﬂ;

' 4

1 Doy, dqu N1 2 A[%‘w‘uo WA lers OV

Cee e wihlpg o "°*‘D Swgly b q""‘ Spri fa

{- what @;C:u ME_sm b QA ntrMan 4cu»ytj 7 Mstrnn L "’T"“ﬁ?
' Rg1ant ?—M

M bed trdieade -

Scanned with CamScanner



